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Q1- Multiply:

1) 210 2) 515 3) 212
X 153 X 324 X 156
4) 678 5) 893 6) 900
x 126 x 111 x 120
7) 134 8) 654 9) 104
x 200 x 330 x 100

WORD PROBLEM

Q2-What is the cost of 180 watches if each watches ¥ cost 690 ?

Q3- A baker made 9 trays of cookies, and each tray has 480 cookies. How many
cookies did the baker make?

Q4- A factory produces 35 boxes of toys in a day, and each box contains 20 toys.
How many toys does the factory produces in 1year?

Q5- A farmer has 14 baskets, and each basket contains 36 apples.. How many apples
does the farmer have in total?

Q6- Sophia is planning a school fundraiser. She wants to sell chocolate bars to raise
money. She bought 12 boxes of chocolate bars, with each box containing 24 bars.
Additionally, she plans to sell raffle tickets. If she buys 20 books of raffle tickets, and
each book has 50 tickets, how many chocolate bars and raffle tickets does Sophia

have in total?
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Ans1- Multiply:

1) 210
X 153

32,130

4) 678
X 126

85,428

7) 134
x 200

26,800

WORD PROBLEM

Ans 2- F2,15,820

Ans 3- 4,320 cookies.

Ans 4- 255,500 toys.

Ans 5- 504 apples.

2) 515
X 324

1,66,860

5) 893
x 111

99,123

8) 654
x 330

2,15,820

X
0@99?" MULTIPLICATION-ANSWER

3) 212
X 156

33,072

6) 900
x 120

1,08,000

9) 104
x 100

10400
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Ans 6- Sophia has a total of 1288 items, including both chocolate bars and raffle tickets.
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